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Choose the correet answer for cach of the questions from 1 (o 5 ) 60

| 241 § i 2ifrh! 2w 4 Beagl 2l S

() 73

. 1Fthe roots of the quadratic cquation gy + by =0. la#0) arc equal,|

Lhen | 3. The mode of the distribution 4, 5, 6. 3,4, 5, 2. 8,4, 21

T oy’ +hy+e=0), (a#0) RIS TR R o 2, e 1.5.6.3.4.5.2. 8, 4, 2 feremm @@ 5

W) 5 ~dac>0 | @3

M) p —dge < ' ' | B4

(| | | ) 4

@) B ~dge 40 () 3
5, Sin():? 0" <0<90". then the value of ¢ is 4 17 for any cvent £ p(15)=0.]'1, when | means “an cvent

4 sind= appening £ atue of P(E) i
W sinf=5, (" <0<90" (R 094 79 happening £ then the vafu ()

o G £ 2 P{E)=0-11 XA T £ @ L O 0
(a3

@ P(E) @ 7 23
(b) 45 ' @ 100
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@ 1.

Y, The distanee of the aatee {2 1) o
Y The distance of (he point -3 4) from the origin is

7 4 (-3, 4) B g

0, If Az{a, beodie fiand B=1{a b, d, {1 find B- 4

W A={ab.ede f} 56 B={0,b.d, {) 55 B~ S =
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1. I d={p, q..r}. (hen write the set P()

i A= pgr ), come (1) weEle

| Sl I'(,r)= @ =5+ Ty+3. then what will be value of P(—J.) !

i ply)=y'-5x 4 Tr43, @ P-2) T B R

), Write down the quadratic equation whose roots are 3 and -3,

| l -3 ¥ T e e

10), the surface area of the cuboid of length Sem. breadth 6erm

L3,

o ~ -

5, 6 (< w3 (5T e TRl S

ind the Median of the following distribution

(5, 8 1006, 12 1L 4 73,9

]

15, 8, 10, 6. 12, 114 7, 3,9
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2 Tf the Mean of 13, 12, x 10. 16, 19 15 12, what is the vulu%

of x?
|

W 15,12, 3, 10, 16, 10 W 1412 %, (90% x w9 7 B

13, Are the two poin(s A(-4,5) and B(2,5) on a line parallel to the
x-axis ! ‘ | ] I b
A-45) % (2, 5) % 38 et v s

H
4. 10x:p=2:3. then find the value of =22 e |
2x+5y
"Iﬁx:y=2:3_.ﬁr7'}—1i?a w0 7
. 24
18,

13, HAZ{IEN:HI{ﬁ} and B = {.1' eN 1x<3}, then fnd 1 (AxB).
]

1% 4= :
| ﬁ]ﬁ/f-leN.chﬁ]W B= {xEN X534 },@C’Jn (Axb’)ﬁ”ﬁI
2l |
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-~ lthe raots of the quadeatic equation 2x” ~10x+K =0 are 2 and 3,

what will be the value of K7

i 207100+ K =0 i ) 2 9 3 1, (0 K 4 R

|
74

|
It A={12,3,45), B={345710} and C={1237} s

that

i A={123,4,5). B={3,45710) W& C={L.23 i d4

The points 4, A are symnc! trical about a line [ and / interscels Az

(he point M. £ is any point on {he linc /. [Jl(Mlh“ll LAPM = ZA

A, A Fo b | e e e | R A ¥ M Ry (&
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{)+ E['\ * 0l nterseets “the ine eo 1.- & 1 | I
S Lhe paint of interscetion of the line seqments AB and €1 such thatl 22, Construet & square- of side 3em,

W

) &

A L‘“ﬂ ) :_lEBD. s (I,I = 8 cm, BD = 4 cm, (=6 Nem und1 3,:;1?" E"iﬁ?] Jlgeia ?.I"":T ﬂm T]r;-*“ '
EB=28em, Find AF and ED 7

23, IFthe surface area of o sphere is S3bbem™, find its diameter.

AB T% CD @45 (@@ 1 475 AFAC <~ AKRD 95 /1o 7f . ke . :
‘ VR e L e A EAC~ AEBD, % C4=88R) @y o RS54 9ol el A, TR A ey @A)

h sk rIoe o sl . Y el > =t -
BD =G, (E=6.-5@R, EB=28f, o AL v ED 7

—
e

One card from a well-shutfled pack of plaving cards is deawn out, Fing

.~ w'le

CTeg] |

o
|

(he probabilities so that the card becomes the King of Diamonds,

STAIE SIS I TR S oI5 Qe Tl g % 3R | A
¢ e 49D F{geE DR | |

o Ala b, e, d are in proportion, prove that

) - 25, Iapoint (x, y) s equidistant from e two points (3, 6) and (=3, 4) the
W a, b o dM @D e 7, o A 7 @ |

L

lind the relation between x and v,

dat3b de+dd B () T (3, 6) W (-3, 4) T o el e e, 20 R
} .9 = ., 1 F} . = :
la-3h 2e-3d 9 JERIET R R g |
* i
20, Solve
G 3 | . " 4 } . a .
. The lengths of two adjacent sides of 4 paralleloaram are Sem and 3-6em A 4 ¢
I"J 11."-}.' -' L ; ".'4'1" lI| i 'lhi o ! I 1 1
espectively and the length of one of its dragonals is 6-3em, Construct v +(2a- 3;_})3_':6{,![]
the parallclogram, )
-

27, Construct an angle of 1200 with the help of ruler und compas

e

Wt <1 AR 71 S 968 A T @ S 6 ok, U

- only.
G 4 0.5 (8 (e WS i =
- A Y GG 2l B €l 120" S (e e @ |
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28, Some of the transactions of the Savings Bank account of Paran Chaliha
arc given below, 1 the tnterest is caleulated afier the month of Seplember
every vear and the rate of interest 1S 4.5 per annum, how much will
hie earn as 1nterest 1n his bank account on the first day of October of that

vedr

4l BieTaR AT Tl Tl NMEH GETY

r'l

]

4

7 Ul

gk

=

r-I

- i

g5 |

f

QT 4.3% T, 28

™.

T3 T 244 ST (954 4 G Teplere e 548 € oA T 2
Date | Particulars | Withdrawals | Deposits | Balance
Tl faa L | it

By Cash
03,0212 | * =
) e Bt W o W
101 By Cash
e P %qu - 400 1000
L Rl . 800
(bl
| By Casl
el R B M| 1500
il A
O8.04,12 oy (;Mh — 3 2000
w20
ﬂﬁlﬂjlll lﬂl CIIEL[UU 400 L ]6{]0
IRk
By Cash
030712 . 1000 2600
wm ﬁ{ﬂ?ﬁ{
| By Cheque
02.09.12 - 1000 3600
(b4q wfdl
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29, Prove that the cqual chords of a circle are equidistant {rom the cen

w4 941 (% 9% <5 TR R (G 7 |

0, Ma+f=90", and a: f=1:2, find sinet 2 sinf.

T q+ =90 W% a: f=1:2 (9 sing : sinff 8 30

31, 25kg. of rice are needed to foed 10 persons in a month. Supposing
each of the persons consumes (he same quantity of rice in eachmeal
with the help of varfation the quantity of rice (in kg.) needed to

12 persons for 15 days. [ 1 month =30 days |

10 % < IS 25 Rt S1G St ) afevT afeien
o3 BT 4 3 4R, 12 % I 19 e A T el

e 4 R O e oy e (e = 30 )
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32, The net taxable income from salary of Mr X age 3T veurs and a permanent

resident of India, for the fmancial year 2007-08 was Rs. 223,000, Find

 his income tax for the assessment vear 2008-09 given the following slabs

for computation of income fax

[neome Slab

(@) Upto Rs, 1,10,000

(h) Trom Rs, 1.10,001 to 1,50,000

Trom Rs, 1.30.001 to 2,350,000

™y
—

() Fducation Cess

.
™3
S

Secondary and Higher Education Cess
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Rate of tax

Nil

1%

2%

2%

[

..J'-"

L
=

|
1 . 5. B 5 , 4
S| 7R ] oA T < e X 200708 [ 9 AR
s (0 EEE o B 2.05.000 5| (382 2008-09 77 T
A e Tesar 2 e 1, ol el el i e T 4

&

e 1,10,000 B R

;h) 110,001 5k 92 1.50.000 e - 10%

o 130001 R 25000 FIE 20%

(d) R % 2%

(0 vl o B% e 9 | 1%

The lengths of two purnlh‘:I chords of a circle are Sem and Hem and

distance between the chords is 3em. Find the tadius of the cirele,

o e M B e e e - TN
TE EHiF N (% 5w | Lo, T e EAUACREE? A 7

.
<Al W < |

3, The vertex of a tree standing just on the hank of a river makes an a

of elevation of 60 with a point located just ou the opposite bank of
iver, The vertes of the tree also makes an angle of ¢levation of 30
point located at a distance of 40ar from the first point at the backy
direction, 11 the two points and the foot of the tree lic on the §
horizontal line, find the height of the tree and the breadth of the n
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W] G ) A T @ G K Wi fig el e 4@1 ‘T‘i 3 Ihc marks obtained by the stud
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3. Tind the ratio in which the point of intersection of the x-axis and the ling
segment which joins the points (3, 5) and (2. -7) Internally divides the

line segment, Also find the coordinates of (he point, 4

3,5) % (2, ~7) 7 e ot yos 2 TR @S

WAlGE S % i <11 T GR R aee e |

36, How many metres of cloth 5m wide, are needed to make a conical tent

ol base radius 7nr and height 24m 9 | X
T, ghaTFRE i 24, S g W o8 ¢l e ol S o
R A e 4 74

BI4-GM 14

below, Find the Mode of the ¢

a9

MMMU;JTJ

A% T

Tlen

Istribution,

ents of a class in Mathematics ar
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No. of St.

1
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33 3040
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